
Assembly Instructions

© 2017

LCC-120 Two Tier End Table

Step 1
Using (4) 1/4” x 2 3/4”  bolts and (4) 1/4” flange nuts, 
attach legs (B) to bottom of table (A).
DO NOT TIGHTEN NUTS UNTIL FULLY 
ASSEMBLED.

Step 2
Using (4) 1/4” x 2 3/4” bolts and (4) 1/4”  flange nuts, 

attach shelf (C) to legs (B).
Complete!

Required Tools:
- Hammer
- 7/16” Wrench or Socket

Hardware:
- (8) 1/4” x 2 3/4” Bolts
- (8) 1/4” Flange Nuts

www.wildridge.com
330-893-4212

A B C


